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GROUP—A

( Marks : 21 )

1. Answer the following : 1×2=2

(a) What is overpopulation?

(b) Write the meaning of hierarchy of

settlement.

2. Answer the following (each within 30 words) :

2×2=4

(a) What is meant by rural-urban

dichotomy?
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(b) Distinguish between pull and push

factors of migration.

3. Answer any three of the following (each

within 150 words) : 5×3=15

(a) Discuss the meaning and scope of

settlement geography.

(b) Explain the factors influencing the

shape of age-sex pyramid.

(c) Write a note on Malthus theory of

population growth and its relevance.

(d) What are the main features of Central

Place Theory? Mention its significance.

(e) Explain the field of population

geography along with its development

trend.

GROUP—B

( Marks : 21 )

4. Answer any three of the following (each

within 250 words) : 7×3=21

(a) What is migration? Explain critically

how it affects the demographic and

economic structures of a particular

region. Give examples.
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(b) Discuss the functional characteristics of 

rural and urban settlement with

examples.

(c) Compare the concept of population

pyramid between developed and

developing countries with necessary

illustrations from South-East Asian

countries.

(d) Write a note on uneven distribution of

population pattern in global context.

(e) Explain the concept of population,

resource and economic development

with reference to Indian subcontinent.

H H H

1-21—PDF/767 3 (Sem–5) GGY M 4



GROUP–A

   (Marks : 30)

1. Answer the following objective type
questions : 1×5=5

(i) Who is known as the father of
Demography ?

(ii) What is the full form of SRS ?
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(iii) What is the current estimated
population of the world ?

(iv) What is the name of the principle
associated with K=3 as per Christaller’s
Central Place Theory ?

(v) Mention one criterion for identifying a
settlement as a town as per Census of
India.

2. Answer the following very short answer type
questions : 2×5=10

(a) Mention two factors influencing fertility
rate.

(b) Mention the salient characteristics of
the first stage of demographic transition
model.

(c) What is meant by “Ageing” ?

(d) Define migration. Give an example of
seasonal migration in India.

(e) What is “Urban Fringe” ? Mention any
one of its characteristics.

3. Answer the following short answer type
questions : (any three) 5×3=15

(i) Define the field of population geography
and briefly discuss its importance.

2+3=5
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(ii) Outline the trend of population growth
in the world since the beginning of
Christian era. 5

(iii) Briefly discuss the push and pull
factors of migration with examples.

5

(iv) Throw light on the Malthusian theory
of population growth. 5

(v) Define Settlement Geography and
briefly discuss its nature. 2+3=5

Group–B

(Marks : 30)

4. Answer the following broad analytical answer
type questions : (any three)   10×3=30

(a) Discuss the factors associated with
spatial variation in population growth in
the world. Give relevant data in support
of your arguments. 7+3=10

(b) Explain the causes and consequences
of International migration. Give
examples. 7+3=10
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(c) What are the factors influencing
variation in mortality rate in the world ?
Briefly assess the impacts of current
pandemic in different parts of the world.

7+3=10

(d) Discuss the morphological and socio-
economic differences between rural and
urban settlements.                   5+5=10

(e) Critically discuss the Burgess theory of
internal structure of a town.      10

   –––––––––––––



Answer either in English or in Assamese.
GROUP–A
Marks : 40

1. Answer the following objective questions :
1×6=6

(a) What is resource ?
¸•Û fl¬±fl¬ Œ¬ı±À˘∑

(b) Give two examples of abiotic resource.
’Êœªœ˚˛ ¸•Û1 ≈È¬± Î◊¬±˝1Ì ø˚˛±º

(c) Give two examples of primary
economic activity.
√õ∂±Ôø˜fl¬ ¬ı‘øM1 ≈È¬± Î◊¬±˝1Ì ø˚˛±º
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(d) What is extensive agriculture ?
ø¬ıô¶‘Ó¬ fl‘¬ø¯∏ fl¬±fl¬ Œ¬ı±À˘∑

(e) Give two examples of plantation crop.
Œ1±¬ÛÚ ˙¸…1 ≈È¬± Î◊¬±˝1Ì ø˚˛±º

(f) Give an example of nation-state.
Ê±øÓ¬-1±©Üò1 ¤È¬± Î◊¬±˝1Ì ø˚˛±º

2. Answer the following very short answer
type questions : 2×5=10

(i) Define Economic Geography.
’Ô«ÕÚøÓ¬fl¡ ˆ”¬À·±˘1 ¸—:± ø√˚˛±º

(ii) Define Environmental Geography.
¬Ûø1Àª˙ ˆ”¬À·±˘1 ¸—:± ø˘‡±º

(iii) Define Political Geography.
1±ÊÕÚøÓ¬fl¬ ˆ”¬À·±˘1 ¸—:± ø˘‡±º

(iv) Distinguish between state and nation-
state.
1±©Üò ’±1n Ê±øÓ¬-1±©Üò1 ˜±Ê1 ¬Û±Ô«fl¬… ø˘‡±º

(v) What is shifting cultivation ?
¶ö±Ú±ôL1œ fl‘¬ø¯∏ fl¬±fl¬ Œ¬ı±À˘∑

3. Answer the following short answer type
questions : 6×4=24

(a) Distinguish between regional and
systematic approaches in Economic
Geography. 6
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’Ô«ÕÚøÓ¬fl¬ ˆ”¬À·±˘1 ’±=ø˘fl¬ ’±1n √õ∂Ì±˘œ¬ıX√√
’Ò…˚˛Ú ¬ÛX√√øÓ¬1 ˜±Ê1 ¬Û±Ô«fl¬… ±ø„ Ò1±º

(b) What is meant by conservation of
resources ? Mention the techniques of
conservation of non-renewable energy
resources. 2+4=6
¸•Û ¸—1é¬Ì ¬ı≈ø˘À˘ øfl¬ ¬ı≈Ê±˚˛∑ ’Úªœfl¬1ÌÀ˚±·…
˙øMê ¸•Û1 ¸—1é¬Ì ¬ÛX√√øÓ¬À¬ı±1 Î◊¬À~‡ fl¬1±º

(c) Discuss the distribution and
production patterns of wheat in the
world. 6
¬Û‘øÔªœÓ¬ Œ‚“U1 ø¬ıÓ¬1Ì ’±1n Î◊¬»ƒ¬Û±Ú1 ¶§1+¬Û ¸•ÛÀfl«¬
’±À˘±‰¬Ú± fl¬1±º

(d) Discuss the importance of Political
Geography. 6
1±ÊÕÚøÓ¬fl¬ ˆ”¬À·±˘1 &1nQ ¸•ÛÀfl«¬ ’±À˘±‰¬Ú± fl¬1±º

GROUP–B

Marks : 40

4. Answer the following broad answer type
questions : (any four)
(Each within 250 words) 10×4=40

(i) With examples explain the dynamic
concept of resource. 10
Î◊¬±˝1Ì¸˝ ¸•Û1 ·øÓ¬˙œ˘ Ò±1Ì± ¸•ÛÀfl«¬ ¬ı…±‡…± fl¬1±º
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(ii) Discuss the factors influencing
cultivation of rice in the world. 10
¬Û‘øÔªœÓ¬ Ò±Ú fl‘¬ø¯∏fl¬±˚«Ó¬ √õ∂ˆ¬±ª Œ¬ÛÀ˘±ª± fl¬±1fl¬¸˜”˝
’±À˘±‰¬Ú± fl¬1±º

(iii) Discuss the role of cash crop farming
to India’s economy. 10
ˆ¬±1Ó¬1 ’Ô«ÚœøÓ¬Ó¬ ˜”˘ÒÚ fl‘¬ø¯∏1 ’ø1˝Ú± ’±À˘±‰¬Ú± fl¬1±º

(iv) Discuss the importance of
environmental studies in geography.

10
ˆ”¬À·±˘Ó¬ ¬Ûø1Àª˙ ’Ò…˚˛Ú1 &1nQ ¸•ÛÀfl«¬ ’±À˘±‰¬Ú± fl¬1±º

(v) Discuss the elements of a state from
political geography perspective. 10
1±ÊÕÚøÓ¬fl¬ ˆ”¬À·±˘1 ¬Ûø1À√õ∂øé¬Ó¬Ó¬ ¤‡Ú 1±©Üò1
Î◊¬¬Û±±ÚÀ¬ı±1 ’±À˘±‰¬Ú± fl¬1±º

(vi) Discuss the significance of Economic
Geography. 10
’Ô«ÕÚøÓ¬fl¬ ˆ”¬À·±˘1 &1nQ ¸•ÛÀfl«¬ ’±À˘±‰¬Ú± fl¬1±º

__________
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